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70 8]
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AN AdE Fossh 1 (F L RPEH)12.92
165 1 SE3 1 (B o K H)13.02
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(6%8] (  +1.6 m)
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33025 Ht Jt& 1 (BREEZE — ) 14.72
628 Fij FH[E K 1 CGHT JEE N W) 14,72
-0.2 m)

223 E%Q?%jtﬁﬁl CGgr JiE — 1) 14.55
696 & & ZEE 1 (M & & F)14.64
52 f1 J& 4.'5‘?1(?)??)3%43)14 66
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5[ 8]
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3[8] 3007 R =1 Co FE = H1)14.42
410 3] 411 g% K& 1 Cir 19 1) 14.89
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[1#8] ( 0.0 m)
10 414420 Ak — R 3 (BT K- 5 E) 19,89
21 6] TN K6 GFEEKR-5E)10.75
3[ 51441175 K 5 % 3 (BRa K- #H) 10. 78
41 3] 907 db#F fF X 3 CGR¥EEKR-REA)10. 87
5[ 112257 F 11 #izf 4 (A K- £ £)10.88
6[ 8]3191 M AIF  (ERERH-%%)10.97
10211128/ sedr2 (BK-&1)11.01
[ 7] R R 4 GOUER R ) Ri5

[3%H] ( +0.3 m)
1[ 314405 A J/U & 3 (BBW[HK-#%E)11.10
20 414401 T ¢ 50 4 BBTAK- 5 11.10
3[ 1] BE B4 EGEERHE)11.20
41 513892 /4K L3 GEEOK-HE)11.29
5[ 215992 KWy % & 2 L#FK-HE)11.38
[ 6]4424 77 & %3 (BAEK-HBE) KRG
[ 7] 524 Mt K (VOLVER-#5 ) Ri5H
[ 814400 30 — v 4 (BRA K- TH) Ri5
[5%H] ( 0.0 m)
1[ 315806 PN jE 4% B 1 (BRH K- &) 11. 02
2[ 814433 & ¥H 1E B 2 (BBWH K- M) 11.03
3[ 2]4430F8 & P2 (BFHR-TE)11.12
A4 115802 /(b K21 BERak-#AN)11.15
5[ 7] 403 Fe A (Palette-H() 11.43
6L 6J13114% (L ft (WE S T)11.44
70 414251 %8 0 # ¥ 2 GrIEK-£F)11. 62
[ 5]1553 3% 0 EH  (KHKACHE) Ri5

[7#8] ¢ -0.1 m)

10113902 k& 2 (Gr#ok-m=3)11.33
2[ 4116137 & ® (BKAC-HE)11.34
3[ 713925k 3 B HE 2 (GLHCK-£%)11.39
A4[ 2]1547 1 BE X (KEKAC-#%)11.42
5[ 315801 & & Fnfsh 1 (BEWH K740 11.50
6 8]3062 & H Beth 2 (& &) 11,65
70613190 %5 3% #hiJr 2 (Fr ) b @) 11.70
8L 5J1776 1L KX (WE S T)11.76
[9%H] ( 0.0 m)

10 174435 % ik 8 K2 (BRMAKR-HE)11.24
2[ 2138948 A it 3 GLéK-#%)I)11.58
3[ 715810 %5 vk Edk 1 BRaK-#&I)11.65
4 314518 % H FE 3 (—HE K- M) 11. 65
50514833418 X2 (H T. K)11.65
6[ 614434 111 0 Ik 2 (BWHK-HE)11.66
70 4] 883&n K =36 (GEERAKZERHE)11.71
8[ 8] 980A A mih1 (Fr R E)11.95

[248] (  -0.3 m)

101] 916 KB S 2 CREER 7o) 14,80
2[ 21442147 B 3 (BHK- L) 10. 88
3[ 3] 906 4§ A KM 3 GREEK-#F)10.89
41 714815 545 P th 3 (BRTAK-5F) 11,00
5[ 5] 4746 fi 1 7% A 3 CHRERK ) 11.04
6[ 6]58141% A  fif 1 (BAK-HE)11.07
708] 317/ #F 4 GRFER-BEE) 11,14
8[ 4] 314K ¥4 GLFKR-Em)11.23

(4%R] ( 0.0 m)

10 114432 A H K2 BERHR-T3)10.94
2[ 6]3880 & JEE 4 QLK T3)11.15
3[ 3]2445 5 E 7R 3 (B ER-FHE)11. 21
41 8]5223 B )IME R 3 (=48 T8 ) 11. 24
5[ 7144174 W 95— 3 (BBWAK-3H) 11.29
6[ 2144091 f% B3 (BBWMHKR-5%%)11.35
7051 B1ER FHp2 (& ¥ ®E)11.42
8[ 4]4402 &5 A fF A7 4 (BEWAKHA) 11. 54

(648 (  -1.2 m)

1[0 3J4M10E N A1 K 3 (BRA K- T2) 11. 32
2[ 413909 F{F #L T2 Gr#EAk-#HE)11.34
3L 114431 B W &4 2 (BRiH k- THE) 11. 42
A7 51403 46 & &k 3 (Ba k-8 11. 42
5[ 213895 # 1 & K3 (LK HH)11.52
6[ 6113594 B A3 (Y& -HE)11.54
70 71163185 K HEvh 2 GHEEE - £5F) 11. 54
8[ 813061 K#% #hit 2 GE &) 11.59

(8#8] (  +0.1 m)

1[ 8]3063 AAf #Ik2 GE A )11.40

2[ 315819 Jii & K 1 (B AK-5E)11. 44

3[ 65811 /K = Mk 1 (BaK: T5)11.55

41 113889 HF {H T 3 (SLBCK-HE)11.73

5[ 413188 4% /I & N2 (A R 4k &) 11.93
[ 25800 JII %1 (BWaK TH) Ri5
[ 5] 103 ¥ BR4 (RRREHZ KD Ri5
[ 714423 5 R St 3 (BRiERHH) Ri5

(1048] ¢ +0.2 m)
1[ 6] ok 2 GRORRERS - A0 11. 56
2[ 5]3202% M Prak 1 (B R AL =) 11.64
3L 71 910k #hr2 (B W =) 11.82
40314249 K B2 (GZIEKR-5HE)11.83
5[ 8] 3043 A sifd 1 (BRAEM -RrE)11.88
60 1] 972 W =1 (Fr R &)12.03
71 2110384 &5 % w5ia  (WAVE TC-#%)1) 12. 29
[ 4]3920 5 A+ 515 2 (SZEK- JLfi) Ri5



[11#8] ¢ 0.0 m)
1021131678 B (W E S T)11
2[ 115823 H  #H 1 BBWHK-HE) 11
3[ 611641 A )1l 5 — 2 (WERmE - E) 11
41 515224 11150 R N3 (=40 THmE) 1
503] 80m & & CREERH 512
[ 4] 309%% H #& K2 (Buem - -HE) R
[ 7152635 0] 152 FRILFRE &) R
[ 814516 Ft AT &3 (—BAK-HR)R
[13%8] (  -1.0 m)
10313074 HABRFE 1 (B K

5[06]3070 thA Fi2 (& K
6 7] 9740tk & 1 (BT

8[ 1] 225w M

(15%8] ( +0.5 m)
11 8] )1 HE
2[ 3] SRE- NI
3[ 211034 ##f [ HfE 5

10 6] 3038 A &1 (BRegm - -HE)13
[ 715277 hn g BE A 2 (BRIl ) R
[1748]) ( +1.0 m)

1[ 8] 597 kM 4wk
2[ 21270545 K

47 3] 2384 1

(19%8] ¢ 0.1 m)
10 1] o (AT

)11,
20 8]3196 )11 & R#E 1 (B R AE =) 11,
3[ 412706 A& St 2 CHrEMNME &) 12.
40 513187k = & 2 (BT R AL =) 12,
=) 12.
R @12,
10 213183/ 4K 2 (AT R b =) 12,
RF 02 OREf] @& 5 5) 12,

(SAC-#E)ID11.
(TEEkEH - T2 11.
(A. 1. R-#E)12.
A4[ 511639 A H {462 (WIS -HE) 12
50 11778 1L W HEE2 O = 76 &) 12
6[ 411621 /a8 A K& 1 (HER -5HE)12.

CRilEd- &%) 11.
fiE 2 CHTREMI ) 11.
3L 731894k 4 K2 (Fr R 4L M) 12.
u] 2 (R & - 57 ) 12.
5[ 6] 310 mARAAKY 1 (BRAES - B £) 12,
6 415230 A #H S 1 (=48 THm) 12,
T[ 5134770 &kt G KRl 5 5) 13.

R)11.
2[ 6]557TE H A2 (KE—®m-#HE) 11,
3[ 2]5231 REH BET 1 (= TH@) 12,
4[ 81164975 /K (= 1 (WM -3 £)13.
5[ 311638 [LHFEZAT 1 (HlE R - )13,
6[ 5319815/ B4 1 (B W b &) 13,
10 411626 12 A (#f 1 (HES-#HE)13.
8[ 715234471l #H A1 (= THm) 13,

.48
.63
.81
. 86
.20
5
5
5

87
98
11
18
24
26
35
39

40
91
16
38
47
o4
13

15

14
97
92
57
12
81
26

33
63
85
15
17
21
55
19

(1248 (  -1.0 m)
1[0 1]1862H+ BEeth (MBC-#=%)11.51
2[ 214521 #t - # 5L 3 (—HBR-H ) 11.78
3[ 6152214 H Ykl 3 (Z4F =) 12.10
47 4] 3021 2t 1 ReEm-HE)12.29
507] 969  # — 1 (Fr R #=)12.31
6[ 8] 301 &Il f=¢1 (Fipem ¥ £)12. 44
[ 316463 = I Yif 1 GL#EK- T3 Ri5
[ 6] 30bFHE w1 (BRER -H£) Ri5
[1448) (  +0.4 m)
1[0 8]1861#H Fnth (MBC-#7%)11.96
2[ 6]5229 ¢ ™ EEME 2 (=4 THim)12. 24
3[ 715225 H B & 3 (=4 i) 12. 28
A[ 414953 = =E 2 B & ®)12.35
5[ 5] AKE K (J777-51K)12.63
6[ 2152674 H #6 2 (Fellidkyrm) 12. 94
[ 1117837 A 1 (K= WM &) RE
[ 3]2431 A& K3 (4 m - 5HE) RiG

[16#8] (  +0.3 m)
101148757 1 7841 1 Ol -5 £)12.05
2[ 511624 %= iy P 1 (WigEe - R 1) 12. 34
3L 3I30T /MR #HFE1GE A =)12.38
407131844k | 1K E 2 (AT R L &) 12. 46
5[ 6116409 H 1 GllEm- R E)12.54
6 214876 & £ fif & 1 (film -5 1) 12.97
T[ 813075 #= gk & 1 (& K %) 13.06
[ 415261 )2 % v h 2 Ok 1L =) Ri5

[18%H] ( +0.6 m)
1[0 311648 (L[ ¥ 1 (RAEG &S -#£)12.70
2[ 2] 3857 7k WE51CH A B §)12.78
3[ 4131918 K#h 1 (Fr iR b &) 12. 94
A[ 7]5233B K YeFE 1 (45 T8 E)12.99
5[ 6]2704 0t 8 Ik 2 CHTEEMIME =) 13. 47
6[ 8] 312 M & 1 (ffEs %) 13. 54
[ 515265/ JII V% 2 (BRILER¥E &) RiG



B iR 5

( 0.0 m)

10513191 H F1F
2[ 2]5814 % K
3[ 114746 1k
4 8] 4433 =
5[ 7]5806 M Ji%
6[ 614415 54
1[0 314432 1 I
[ 411128/ &

iR B

(f Ebefs -5 %£) 10. 86
M1 (B Rk- 575 10. 92
&N 3 GO K300 10. 93
155 2 (BB K- #0011, 01
BE 1 (BTAK-##E) 11. 04
P th 3 (BRI Hk-£i %) 11. 16
K2 (R k-T4)13. 89
s 2 (BR-E L) RS

( -0.8 m)

10 4]
21 5]

3[ 3]44113F K
4 6] 4420 /> #k
5[ 214421 # %7
6[ 712257 % 1L

70 1]
81[ 8]

916 K
(e

S FE 2 ORFER K3 10. T
K6 (FEEK-5KE)10.77
B3 (BRiHk-## ) 10. 79
— i 3 (BB K5 E) 10. 85

5% 3 (BRi 5Kk 1) 10. 86
i =f 4 (F K - By £)10. 92
906 & A KA 3 CREFEAR-£5E) 11,04
907 b AF fF K 3 GRFER-REA) 11,15

HmEEF 200m FTEAHEZ2 A LL—X)

(18]
1[ 4]
2[ 2]

3[ 711232 Btk

41 6]
41 5]
6[ 3]
[ 1]
[ 8]

(34#8]
11 4]
2[ 2]
3[ 3]
41 6]
5[ 5]
6[ 8]
1[0 1]
[ 7]

[(548)
1[ 6]
2[ 5]
3[ 8]
41 4]
5[ 7]
6[ 2]
71 3]
8[ 1]

( +1.1 m)
200 K SR A3 (B ) 3597
211 kiR A 3 (ATIR L) 24. 34

suthi 3 CBr B ) 24. 57
K 2 (FTiR A B ) 25. 02
2 (FTiREJ ) 25. 02
K1 (FTRE ) 26. 36
183 ¥4 M J&HE 3 (=05 AMRT) Ri5
21478 Kl 3 Gy JE — ) Ri5
( +2.5 m)
324 %5 4 F 2 (BRAEZE — ) 24. 90
184 5% oz 2 (F] 82 — 11)25.79
463 M = KA 2 (FriRialks ) 25. 90
590 & 1 #R322 Ul A H1)26.01
699 FE i fmE 2 (P & & 1)26.45
2294 W B 1 (FTREEIR ) 27. 24
5857+ A2 Ul A H)28.33
128 A B2 (ERXET) Ri5

( +3.6 m)
405 A g 2 OBk = B ) 25. 26
479 i Ay B AR 1 (BEINFE M) 25. 63
497 x A FnAE 2 (FriRkim B ) 25. 89
456 #E IR [E 2 (FTR W 1) 26. 25
316 = A A2 (BREEE — ) 27.07
302 A BF Ak 2 (BRIl ) 27,72
e i E 2 (FriRrEEH)29. 26
6 B -1 (BT Eg ) 30. 28

465 11|
238 (L Ry
221 74 pk

[248]
1[ 8]
2[ 4]
3[ 2]
4[ 3]
5[ 6]
6[ 5]
107]
8[ 1]

(4%8]
1[ 2]
2[ 1]
3[ 3]
41 8]
5[ 6]
6[ 5]
[ 4]
[ 7]

[64H)
1[0 1]
2[ 2]
3[ 7]
41 6]
5[ 3]
6 8]
71 5]
[ 4]

( +0.8 m)
8175 % 5 3 (P CHL!)24.19
623 = (L tifg 3 (ARI4eF ) 24.59
200 SR & el 3 CBr 2 — 1) 24.80
ST B XM 2 CRAR L) 25.16
705 & FF Ik A8 1 CNfH i) 25. 86
495 = A E AL 2 (FTiRIA) 5 ) 26. 34
186 /5 45 fdt K 2 (=05 A fRH) 26. 98
2327 M 2 (FTIRERT)27.03

( +3.8 m)

2145 =712 G g = )25.74
2323t 2 Oy FE 1) 25.75
32°F 4 2 (FrikmkEY)27.23
S4 TN K H 2 (R L3R ) 27. 37

21537 K 3 G e — H1)27.39
32 WP K% 2 Gor = )28. 23
60 7T N 252 3 (R L) k35
683 AW &2 (M & & 1) KRG

( +2.2 m)

454 FBOR 1E 2 (9] 85 U H)25. 71

320 H TR KRR 2 (ARBEZHE — ) 26. 92
Tt Bl 2 (BERAEH)27.38

315 & A 4h 2 (Bl ) 27. 54
56 <5 (I 7% 2 CGRAR L3R H) 27. 61
81 ¢n A Kk 1 (EREAKYH)27.68
58 fa 7k Rk 2 CRAR LR ) 27. 94

485 tf kT A 1 (NI A



(74#8]
11 4]
2[ 3]
3[ 5]
41 1]
5[ 6]
6[ 8]
70 2]
[ 7]

[948]
1[ 5]
2[ 4]
3[ 3]
41 2]
5[ 7]
6 1]
71 6]
[ 8]

( +2.9 m)

323 15 iyl — 2 (BLANAEZEH) 25. 72
172 %8 9 — o 2 (Frik =% &) 26. 56
AN Hd T Fogsr 1 (F LRV H) 26. 84
439 Fr A wE A 2 CBr 2 U ) 26. 92
N9 s K& 2 (Bpess—9)27.09
468 = NEE K 1 (FTik M B ) 217. 34
203 KN HEH 3 Chr & — H1)27.48
630 =4 E£EH2 A&+ RE

( +2.3 m)

59141 A2 Ul A H1)27.04
858 |11 Bk 1 (6 @ A H)27.51
165 H Je3 1 (JE @ Kk 1)27.56
53R E #h 1 (9T RO H1)28.75

204 1P EE T4 3 CFF JEE — 1) 29. 48

696 £ k& 249 1 (79 & 4 H1)29.50

752 O BE B 1 (IR MBS ) 29. 98

223 ERIBRHE 1 GO B — vh) K1

(11#8] ¢ +3.0 m)

11 6]
20 7]
3[ 4]
41 5]
5[ 2]
6[ 8]
1[0 1]
8[ 3]

611 % 8 2 2 (g N H)25.32
86 17 & HiAH 1 (LA FH)27.66
469 Fn & uR b 2 (BLAnE ) 28. 82
322 /N1 I K 2 (BRAESE — ) 29. 00
762 == )5 7% 1 (AR ks ) 29. 52
89 t& H M7 1 (LB AFH)30.20
AN28F B w1 (& RvEH)30.29
75865 A A1 (FriRimBs ) 30. 78

[13#8) (  +1.5 m)

1[0 1]
2[ 4]
3[ 2]
41 7]
5[ 3]
6[ 8]
10 5]
8[ 6]

452 v mERL 2 (B OEE U H)25.12
81wl BB 1 (B @ A H)27.51
625 )11 0 &8 3 (A4 7H)27.90
M9 A FAE2 (FLHRPET)28. 87
464 1% # A2 CFNEHIA)28. 89
632 B & k2 (A4 7H)29.00
17096 K & E 2 (FrR=7&%)29. 05
62 55 [ 4R B 2 (B L H ) 30. 45

(15%88] (  +0.8 m)
10 81205 4m 4 A 1 Cor Ji2 — 1) 27.83

2[ 1]
3[ 3]
41 6]
5[ 2]

169 Mkl [ =k 1 OAR LBER ) 29. 22
588l FE2 (Il A H1)29.38
81T R & &1 (LRKX¥H)29.97
472 % 7 @1 (FTiRia ks ) 30. 20

(8#8] (  +1.7 m)

1[ 5] 584 /&= —&F2 (BLAMMT)25 74
2[ 6] 228 R)IENE 2 O 8 — 1) 27.58
[ 4l1217 ¥ g FEF- 1 Oy JE — ) 27. 62
41 8] 85\ /7 w1 (LR AHH)27.69
5[ 7] 305 M AE KRS 1 Cfr 8 = )28.88
6[ 3] 697 £ M &A1 & & #)29.33
T[ 1] 3250 #5  #k 2 Cor FE = H)30.58
8L 2] A4l 1 (FriRFEET)32.08

[1048) (  +2.2 m)
10 7] 634 B[ 562 (ARI4 1) 27.08
20 1] 423 @& 1% KM 2 (&) 27. 48
3[ 5] 84MTIN BiE 1 (fE @ A& ¥)28.13
41 2] 24085 A 2 GBr & — +)28.63
50 6] 759 & WH A% ke 1 (ITiR AR ) 29. 27
6 3] 65FEAIE AN 1 (k1L 3 ) 30. 39
70 4] 45588 0 B2 K1 (FFiRm ks ) 31.10
[ 8] 760 M & 158 1 (FriR ks ) Aot
[1248) ( +3.8 m)
10 41212 [ | Fokst 1 Gor & — ) 27.38
2[ 5] 589 F w2 Ul A 11)27.99
3[ 31122414 §E Y& 1 (37 JEE — ) 28.57
41 211202 42 11 % &k 1 Gor 2 — 1) 28.79
5[ 8] 208 i y% HE £ 3 (B JE — 1) 28.90
6[ 1] 3003 3| =£1 G FE = 1)29.93
70 6] 47384 & A 1 (FriR a5 ) 30. 26
[ 7] 151 & 1 (FrR=/ B &

[1448]) ( +0.8 m)
10 1] 451 BB R 2 (A &8 U 1)26.94
2[ 8] 409 H 4 &1 GFr JEE 19 ) 27. 84
3[ 4] 205rEx FHE1 G B — H)28.13
A1 2] TIEEHEZEIIR 1 (B R R +)28.56
5[ 7] 5210t gk w5 1 (ELAMRET)28.57
6 511226 & 1 Gor B2 — 71)30. 52
(3] 83k #F IFE1 (RERXK¥H) KRG
[ 6123188 Fk 3 CGir 2 — ) Ri5

[16#8] (  +3.2 m)

1[ 1] 453 8% #fifsf 2 (] /5 U +fv)25.88
2[ 2] 860)Im5 48 =F 1 Ok J 3 1) 30.16
3[ 4] 80 EF1 (LREANH)31.53
41 6] 754k 5 JEAIR 1 (FrikiaksHh) 31,78
50 7] 756 B W K#E 1 (FriRkiag) 32. 57

6[ 711204 G K 1 Cor FE — 1) 30.
10 4] 7612 X 95 1 (FrikA ks ) 31.

34
05

[ 5] 704 M T|#2 (E O K d)RiG

6 5]
71 8]
8[ 3]

166 = £
755 fE &
64 B4 1

s 1 (TR G ) 33. 54
1EE 1 (FrRAE+)34.73
B GRAR LR ) 34. 87



B iR 5

( 2.1 m)

106] S1BE 1P K2 (R ILEA)24. 95
20 6] 452 KEH 2 (3 & MU +)25.02
3[ 7] 611 )& 42 Cor JEE /N H)25.05
41 4] 238 1 55 9% 2 (BT EJHH)25. 13
5[ 1] 454 2K 142 () 8 U +)25.30
6 3] 405 F At ZnAs 2 OBk & REH) 25. 66
10 2] 32374 iy 9 — 2 (BUINAEEE ) 25. 90
8[ 8] 479 k) =& A 1 (FNFHEMIH)25.95

R B
( +0.3 m)

10 6] 222 KA A K3 B BE — 1) 34,92
20 3] 817 % W E 3 (P ) 24. 01
3[ 4] 211 &R & A7 3 (TR EJR ) 24. 03
41 1] 465+ )1 At 2 (Frikim k) 24.16
5[ 8] 200 &% 3 (B M — H)24.24
60 7] 623 11 L3 (A4 T 1)24.33
T 511232 v B su4hi 3 G )2 — 1) 24.38
8[ 2] 324% M #F2 (BRAEZE —)25.16

BF 200m FE(SE2 M LL—X)

[148] ( +1.7 m)
1[ 81747 = W E b (WASEDA. TFC) 4k/8
2[ 615799 Il ¥ & 3 (Buhk-Eam) 3k 83
3[ 3] 907 b #F cRF K 3 CGRFEKR-HE) 22. 04
AL 214421 49 B 53 (BEFHK- L) 22. 35
[ 112257 F (b #fizk4 (H K- # £) Ri5
[ 414420 /K — pk 3 (BRI K -5 E) Ri5
[ 5] FEAT VR 4 GRERRY HR) Ri5
[ 7] 344G AR EE  (BATF-BE) RS
[3#8]) ( +2.6 m)
107144221k R 523 (BBWAK-TE)22.12
2[ 3]4433 59 15 & 2 (BEHK-H) 22. 45
3[ 413906 U H Al K 2 Gr#Kk-H+£)22.45
A 814394 K% M P4 (BEHK-TIE) 22. 53
5[ 214405 4 J5 Ei A8 3 (BEFH K-#iE)22. 55
[ 114432 A 3 K 2 (BEEK T3 Ri5
[ 513893V H {3 (CLZEK- T3) Rim
[ 614411 35 K BB & 3 (BEFH K- §i) 35
[6#8] (  +1.4 m)
10 114407 = )11 £ AN 3 (BBAK-TE) 22. 60
2[ 414437 E =] &4 2 (BEWH K- TH) 22. 62
3[ 814440 Fn (L KAk 2 (BEFH K- TH)22. 68
4 2] 1547 e W5 K (KEKAC-#7%)22. 86
5[ 312445 55 {5 WK 3 (FEKR-HE)22.90
6[ 5] ol 2 GURER-HE) 23. 02
TL714M9 #2517 3 (BBWA K- E) 23. 23
[ 6] 31671 H £&4 CEFR-MAR) Ri5

[248] ( +1.8 m)
10315995 )i £ KHE 1 (SZ#oKk-Hm)21. 85
2[ 414436 T K%k 2 (BBWHK-FH)21.95
30 6)244THE 15 W3 (HEK-EE)22. 24
41 2] 323/ 8N (BERTF-#5)22.50
[ 114395 8 (L BE KRR 4 (BEA K- TH) Ri5
[ 513191 & 1 A GiEkEd -5E) Rig
[ 714424 5 & & 3 BWEK-BE) RiG
[ 81440030 — A 4 (BEWH KT Ri5
(4#2] (. +1.1 m)
10515814 K #1 (BHTHK-#%)21.93
2[ 213907 ¥ I & K2 (L#K-#¥E)22.23
3L 7] 102 ¢4 640 3 (RARIF2-5HE)22. 26
41 415821 HH =ik 1 (BfEK-#%E)22. 68
[ 114431 B & 4K 2 BEiTE K T35 Ri5
[ 3J4410 FE N AT K 3 (BB E K- T3 Ri5
[ 61405 B P&t 3 (BRiTAK-BHE) RiG
[ 815806 PN ik HH= 1 (BEiTH K- §id) Ri5

[6#2] (  +3.1 m)

1[ 114425578 % A 3 (BRAK-7ki%) 22. 49

2[ 415808 % (L B 1 (BWAK- 74 22. 81

S 514MTHH ¥ — 3 (BBA K- HR) 22. 84

41 3] B1E4n Fk2 (B % 7)22.91
[ 2]4425 4 7 U 3 (BEA K- T3) Ri5
[ 6]3872 1% KHE4 (CHk-#A)) RIS
[ 7] ol R 6 BREEK S E) Ri5
[ 8]4045 50 s th 4 (HRERK-EH) Ki5



(7#8] ¢ +1.9 m)

1[ 314397 /Mg 3% 4 (BB K-5E)22. 80

2[ 6]443084 7+ B2 (BER-T3)22.94

3[ 114401 Tk S5 HE 4 (BEHKH) 23. 32

41 8]4045 ) st 4 (WRERK-K¥)23. 97

5[ 714444 - H =5t 2 (BRITAR 13 24. 29
[ 2]5800% JIl %1 (BEWHK TH Ri5
[ 414409 = % #1 E 3 BRIVAER-&E) Ri5
[ 514412 gnARAR N 3 (BRITA K- #ES) Ri5

[94R] (  +1.2 m)
10 274408 /78 K& 3 (BRHK-HE)23. 16
2[ 61483371 FI K2 (H I K)23.51
3[ 715810 %5 o Ak 1 (BRiA K- 23. 55
A[ 41443875 B & 50 2 (BEFHK- K40 23. 72
5[ 813190 & #6412 (Ar R Jk ) 23.99
6[ 1] 980 A A 1 (Fr R =)24.28
[ 314435 7 ik B K2 BBk -5E) RiG
[ 5] AR K2 BEER-HE) R

[1148]) ( +2.2 m)
10 2]3061 K& 2GR =) 23.15
2[ 513202 FH H ek 1 (A R Jk ) 23.35
3[ 6]1644 % M 4l 1 (HER- & F)23.52
A4 715224 11150 R N3 (=40 THom) 23. 66
5[ 811641 &)1 By — 2 (H8Em -&£)23. 81
6[ 41307 z8H A2 GE =) 24. 67
10 1]1780F2 % KIr2 (K = 78 &) 24. 84
[ 31318 & 1 =2 (Fr R At &) KR35
(13#8] ( +0.7 m)
10 116030 1K=~ 1 CEAEEEK)22. 79
2[ 514406 f5 A KK 3 (BEFHK-#%)23. 95
3[ 7] B fnJR (THRER- T3 24. 39
41 311639 & H hth 2 (g -Bi£)25.16
5[ 8116245 iy P 1 (W& -#%)25. 72
6 4131918 H K1 (Fr iR 4k =) 26. 48
T 211621 I A K& 1 FHEE -5 E)27. 42
[ 615267 H 1 C 2 CBRILERS &) Ri5

[1548]) ( +1.2 m)
1[0 3]4443 B B 2 2 (BRWH K- hi#) 22. 90
2[ 711648 1L W HE 1 (R -5 ) 26. 46
3[ 6] 385 7k  WESL (B &L Fie 1) 26. 66
41 4]4828% & AFS3S(H L K)26.77
5[ 81164975 /K 1= 1 (HEE -#E)27. 11
6[ 515580 i R &k 1 (KRE—#-%%)29.04
[ 2]2447 5k FH 22 (WA -BE) RIS

(8#8] (  +1.6 m)

10 315802 /i 1 K £ 1 (e k- 22. 48
2[ 1] B3R a4 BEEK-HE)22. 84
3[ 615813 1A — &8 1 (BRiW5K-HkH)22. 90
41 8]5223 B4 )IMER 3 (=4 THm) 22. 91
5[ 7]5815 & B 5/ 1 (BMAR- 5K 22. 97
6 [ 215812 =& s 1 (Bima k- 1#8) 23. 10
TL 515811k = ks 1 (BRHAK- T4 23. 38
8[ 415806 %% T & f 1 (BymaR-TH#)23. 39

(1048] (  +2.5 m)

10 81628 /R 76 PREX 2 (Flfm - £ %) 23. 50

2[ 54413 =Ml & 8k 3 (BRITA K- i) 23. 76

3[ 413081 /M & ffd (LR 5E)23. 84

A0 111779 & #L2 Ok & 19 =) 24.68
[ 214441 011 8 2k 2 (BRI A K- 5 &) Ri5
[ 313063 A4+ Ik 2 (& ) R 5
[ 61443411 A tRik2 (BRIWER 5E) R
[ 71442355 5L St 3 (BRiTH K ) Ri5
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6[ 5] 48615 A&
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8[ 3]

(3#8] (
1[ 2]
2[ 5]
3[ 4]
4[ 6]
5[ 3]
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71 8]
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+1.9 m)
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+0.7 m)
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We gt 1 (AT IR B ) 13.
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SHiEE medy 1 (FriNm &) 14,

221 kM Bl 1 (FriREHE ) 13.
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14770 gk w5 1 (FrifvhFAa) 14,
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370 /i SERE 1 (i kiip) 14,
1411 7 BEER T FHVNFED) 14,
80 UG £ H 1 (LRKFEH)14.
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84
94
97
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A
88
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[248)
1[ 4]
2[ 6]
3[ 3]
41 7]
5[ 8]
6[ 2]
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8[ 5]
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1L 8]
2[ 4]
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( +1.2 m)
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fl 31 (FTiR ) 14,
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250 - 2
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P 1 (PR ) 14,
502 E ROV 72 1 G 8 1 H) 14,

99
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40 7] AN B R 1 (FTiRIAEH) 14. 42

5[ 3]
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( +0.9 m)

10 4] 3334 H
20 1] 61HH
3[ 5] 2658 K
4[ 6] 3274 N

1 (BNAEEES) 14. 45
HIE1 (B o K H1)14.53
71 B 8 — ) 14.64
KFET Gk )14, 84

TL8I107TT R &< B 1 Ok JE & )14,
Hras 1 (RR PR 14,
261 7~ Ry VP 1 (B )14
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3L 6]
41 4]

201 /)~ 74

262 N H

5[ 8]
6 7]
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81[ 3]

224
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476 BT H £ A 1 (FTiRIEEE 1) 15.
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463 M B & 1 (% P P )15,
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50
99
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10 411205 &)1
2[ 7] 528 % H
3[ 311005 € A
4[ 6] 456 H 5
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m)
B3 1 (G 2 — ) 14.66
XX 1 (B LRABET) 14. 86
U1 (5 K ) 14,91
K 1 (FLANFE ) 15. 16
FEA (B & A H)156.17

60 2] 148 NILIAEALR 1 (AN FHEH) 15. 42

10 8]
8[ 1] 524 & By
(9%8] (  +1.3

1[0 3] 518 ".5d
2[ 211206 )1] if
3[ 6] 150 & 1%
4 511008 /)~ &
5[ 8] 727 78 1%
6[ 7] 655K
70 1] 3155%

8[ 411000 1% jE

83 A HFIE 1 (ERAF-H)15. 66

A1 (BHRESET)15. 68

m)
FH 1 (FLRT) 14,56
AL 1 CEr ) 14,77
=R 1 (FrRANFET) 14. 80
AT (5 K H)14.88
AR 1 (AT A R ) 14. 92
FLE1 AHE o K H1)14.93
B 1 (FAESE — 1) 15. 06

1 (5 K JF $1)15.23

(8#8] (  -0.7 m)
10 1] 205485 K
2[ 5] 7364 iR
30 4] 163 & i
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6[ 7]
70 2]
8[ 3]
[1048] (  +1.1 m)
10 5] 520 % I
21 611071 (L&

166 /1~ #K
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8[ 8]

K4 1 (BRR T2 14,

BE 1 CARITA i ) 14,
HfE 1 AR LBRR ) 14,
il 3 1 Cor B2 — )14,
522 J5 W 4 1 (F L REHET) 15.
337 tx % Fw A% 1 (BREESS — ) 15.
¥ 1 (A LR )15,
309 B4+ e 1 (BB ) 15.

KE 1 (AT 14,
il 5 1 Ok I 3K )14
3L 2] 41280 # 3= 1 (FriRkiAEs+) 14,
410 4] 31 =W~ 3 1 (PR Lliad)16.
S50 1) 231454 3F A1 CGor JE — ) 15.
6[ 71064 it & #% )5 1 OK F 3R )15,
1 (FrR/NFAR ) 15.
82k 4+ H A1 (LEKFEH)16.
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84
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(11#8] ¢ +1.1 m)
1[0 1] 403 2AEH MY 1 Cor & U 1) 13. 87
20 2] S21 N1 Fn & 1 (B LFF#ET) 14. 91
3[ 5] 167k (& 1 (AR LEER$)15.40
41 4] 232/ Ag 1 Cfr 8 — 1) 15.46
5[ 611209 2 & WEAK 1 Cfr & — 1) 15. 87
60 7] 266 1 ERiw1 (] BB — #)15.97
108] 2N DA 1 (8] 8 — H)16.51
[ 3] 52/hmtEHE 1 (T iR R ) Ri5

[13%8) (  +0.1 m)

104] 2135 B &1 O B — 1) 14.69
20 1] 223%f% T #E1 Cor B — #)15.03
3[ 5] 2814k = TH 1 (FE & 11 #)15.13
41 6]1207 87 <F Hf % 1 Cor 2 — #1)15.18
5[0 2] 317/hWHYIFHH 1 (BHESS — ) 15. 31
6[ 3] 50975k & /v 1 Cor & . #)15.34
70 7] 155/ 3251 (AR =7 &%) 15. 44
8 8] 168 BT HMEAJ) 1 (AR Li#iR)15. 89

[154]) ( +1.2 m)
107] 2241047 7= ®5 1 (CBr 2 — #1)14.93
20 11 S51fA 2751 (Fr R $)15.30
3[ 5] 164 1 B 1 (AR LERS)15.58
40 8] 81BIM H&H1 (EREKFH)16.63
5[ 6] 1208 /A %k EE 1 CGor ) — #)17.00
6[ 4] 689k W fE1 (B & & H)17.07
703]) 6933 H 1 (B & & #)17.13
[ 2] 326 K5t A1 Bkl » ) Ri5

[1748]) ( +1.3 m)

107] 2824 ZEHR1 (& & 1L #)15.08
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3[ 5] 730514 H2Z=1 (ANMMEF)15.73
4[ 6] 63tEEPV 71 (& © A& H)15.78
50 1] 2167 ¢ 81 CARIEEIR+)15.83
6[ 8] 470 /NbRHg 2 BE 1 (AT IR Ak H1) 16,13
70 4] 4552 R4S 1 (B NE M) 16. 17
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104] 1363 W Em1 GBr FE  H)14.39
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A 6] 729& M ZEwp:1 (AMmJEAH)16.00
502] 1713 H  we1 (5 & — H1)16.25
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84 )l T+ 1 (B » & )15,
By 1 O A ) 18,
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8[ 7] 421 H . T 1 (B HREH)15.

41 2]
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70 3] 514k &

(14f8] (  +1.2 m)

10 1] 406 £~ #3521 (B i 9 H)13.
2[ 5] 2211/ Av3e 1 G B — H)14.
3[ 4] 3M9FEJH Kk 1 (BREEF —H)15.
4[ 3] 318y B FHjc. 1 (BREEZ —H)15.
5[0 2] 316/ ZFEA 1 (BRAESE — )15,
6[ 8] 336 H KA1 (BREEF —H)15.
106] 18044 &1 @ & — )15,
8[ 7] 324 EHFLE 71 (el » FH)16.

(16#8) (  +2.0 m)
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20 1] 322/ M H 1 OBl s mH)15.
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41 8110754k ) FEWL 1 CK H H 1) 15.
5[ 7]10747 H B2 1 (K H #H H)15.
6[ 511203 (LW ZEme1 CGir B — H)15.
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508] 222 E4& HE1 G E — )16,
6[ 5112138 A8 1 CG&r 2 — 1) 16.
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34
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82
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18

o4
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82
34
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08

10
11
88
89
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(21#8] ¢ +2.1 m)

10 4] 61075 K &%+ 1 Cor Ji2 /N 1) 14.72
2[ 2] 6027 ACA& 1 CFr FE X o) 14.81
3[ 5] 143 M FEfr1 G & H)14.97
40 7] 3045 MAREZEL G 8 = 1)15.16
5[ 6] 405 [=JfF H #5 1 CBr % 14 A1) 15,17
6[ 8] 300 A4 ¥AE1 CHr /¥ = H1)15.58
TL 3] 212/ 78 #i4< 1 (R =240 15. 80

[23#8] (0.0 m)

103] 62878 ERAL 1 (Br X H)15. 66

2[ 8] T2HifT B5#& 1 (JOYSTICK)15. 71

3[ 2] 4042w m# 1 CGor & U 1) 16. 33

A4 5] 469 )Ty 1 (B & U ) 16. 47

5[ 6] 606 &%y 2@l 1 Cor )i /N #)16.58
[ 4] 2183F Il FE 1 (BERIRH KR Ri5
[ 7] 7135485 /3% 1 (JOYSTICK) Ris

B iR

( -1.3 m)

107] 2502 #EH 1 G JE — 1) 14.04
20 5] 84945k X1 (WHESCHEF) 14,17
3[ 4] 486#E A 1 GEINFHIH)14.25
41 6] 814N, ONEY 1 (= 5 W H)14.27
5[ 3] 2734wy k% 1 (Frik v derh) 14, 28
6 8] 502 EJFE M7= 1 AT & . ) 14. 36
7011 35211 A 1 GEMESE =) 14. 41
8[ 2] 151 HBMEL<H 1 (AR =7 &) 14. 57

R %
( -0.5 m)

105] 405+ A 31 (B EREH)13.48
2[ 3] 140 % =ik 1 (FrR/hFHEH) 13.50
3[ 6] 230 K#& negn1 CGor e — +)13.78
41 8] 403 )24 H M JH 1 GFr e U 1) 13. 83
5071 221 KW E i1 (FrikFEFEH)13. 83
6 4] 1M A1 (FriREEEY)13.87
T 1] 406 &% #2321 CGor E& 9 #)13.93
8[ 2] 24 M mwehd 1 (FrRmEE+)14.00

[2248) (0.0 m)
1[ 3] 609 k8 7k g1 Gor JE 7S #)15.09
20 4] 2101 Z=FE 1 (EIR R 54%) 15. 30
3[ 8] 604F ik E1 G & A H1)15.34
A7 11211 /g0 F 1 Cor JE — F1) 15,42
50 5] 301/h#k EZ1 G E = 1) 15.57
6[ 6] 608 /A E H2E1 CH HE N H)15.94
1071 211 KA K& 1 GFERFB %) 16.08
[ 2] 303 BAMRELWE 1 CGor JE = ) Ri5

HELZF 100m FE Q2R A LL—X)

(1% ¢ +0.6 m)
10 7] 463 2% H5rg2 (8] & U H1)12.93
20 3] 21510 & w723 (FTiRENH)13. 05
3[ 1] 202 4 v M3 Oy jE — H)13.34
410 2] 283wt AR 2 (FriRSERH)13. 35
5[05] 235 A =2 (FriRE$)13.39
6 6] 6177 M M Hil 3 Cor Ji& /X 41)13.95
10 4] 465757 & 2 (F 8% U ) 14.54
[ 8] 482 F&MEHIN 3 G B W o) Ri5

[242] (  +1.2 m)

1[1] 231 K% #i4&s 2 (FriREFE+)13.00
20 711201 & ® ZL e 2 G JE — #1)13.13
3[ 2] 246/ T3 G 2 — #1)13.35
47 6] 123 EEAEHLE 2 (FrRUhFHEd)13. 49
5[ 8] 553 E &Il 2 Cir FE H H1)13. 61
6[ 3] 18/NEF=53EH 2 (FriREgE+)13. 68
70 4] 533 1=k FHk 3 CGor JE # ) 13. 74
8[ 5] 613 A3 CGir i A~ F1)13.77
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2[ 3]
3[ 8]
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5[ 4]
6[ 7]
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6[ 6]
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( -0.4 m)
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452 B RLAE 2 (FTiR M B ) 14,07
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A0 7] 333 EH E£ME2 Cor B = H)14.27
S5[03] 2145 % #Hi2 G E — H)14.31
6[ 6] 251 HH T2 (AR )14, 37
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2[ 5] 621 & H =H 2 CGir JE R H)14.28
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A[ 7] 268 K& A A 2 (Frikdiderr)14.53
5[ 6] 3317 72 (BREEES — ) 14.57

60 111200 /K13 2 Cor 8 — 1) 14. 64
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8[ 8]

203 78 (1 2 A3 CFr ) 14,72
211 AR 2 CGF B ) 14.80
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619 K FEMER 2 CGor JFE N ) 14.15
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6 7]

70 5]1202 7 ji

81 4]

( -0.6 m)
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428 &2 1L A2 (B LR PEH)14.45
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618 &0 R 2 CGIr ) 7S 1) 14.03
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145K EHE2 GE © K H)15.
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A
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42

48
97
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L
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3[ 6] 864 (L&
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[ 7] 328 N H
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g 2 CARET 1A i) 16.
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B2 s r & H)14.
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